	TABULATION SHEET 2019-031-6795 Annual Contract for Inmate Clothing and O Items	2019-031-6795 Annual Contract for Inmate Clothing and Other Related						VENDOR # 7 Tabb Textiles Co., Inc. 511 Pleasant Drive		VENDOR # 8 Charm-Tex 1618 Cohey Island Ave		
	Opening Date: March 14, 2019			PO Box 12631 Arizona 85267 Crystal Mcbee		7025 Industrial Park Road Mount Pleasant, TN 38474 Mariah Macham		Opelika, AL 36801 Alan Fenster		Brooklyn, NY 11230 Stan Danzger		
	Initial Contract Period: Upon Court Approval, 24 months with (3) one year extension options			sales@carefreeunif	orms.com	sales@victorysupplyinc.co	<u>om</u>	tabb@textilegroup.ne	et	stan@charm-tex.com		
	Buyer Tiffany Dales			480-368-9056 480-368-9063-fax		888-376-1205 ext 716 931-325-5521 fax		334-745-6762 334-745-2377-fax		718-252-8100 718-258-8303-fax		
	Recommended for award			No		***Recommended for: Face Boxers, and Womens		No	No			
	Dallas County Taxpayer?			No		No		No		No		
	How were you notified?			Dallas County Website		Dallas County Website		Email/Notice from Dalla	s	Dallas County Website		
	Cooperative Purchasing? Samples			Yes		Yes Yes		Yes Yes Yes				
	References			Yes		Yes		Yes		Yes		
n	DESCRIPTION:	Estimated	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	
		Quantity										
	Black and White Uniforms Inmate Clothing (Sheriff's Department)											
	Inmate Black & White Pants, as per bid specifications											
	Size: Small	200	each	\$5.24	\$1,048.00	\$5.11	\$1,022.00	No Bid		\$6.18	\$1,236.00	
	Size: Medium	200	each	\$5.24	\$1,048.00	\$5.11	\$1,022.00	No Bid		\$6.18	\$1,236.00	
	Size: Large	400	each	\$5.24	\$2,096.00	\$5.11	\$2,044.00	No Bid		\$6.18	\$2,472.00	
	Size: X-Large	1,200	each	\$5.24	\$6,288.00	\$5.11	\$6,132.00	No Bid		\$6.18	\$7,416.00	
	Size: 2X-Large	1,200	each	\$5.24	\$6,288.00	\$5.11	\$6,132.00	No Bid		\$6.18	\$7,416.00	
	Size: 3X-Large	1,200	each	\$5.48	\$6,576.00	\$5.59	\$6,708.00	No Bid		\$6.36	\$7,632.00	
	Size: 4X-Large	800 300	each each	\$5.79 \$5.89	\$4,632.00 \$1,767.00	\$5.59 \$6.05	\$4,472.00 \$1,815.00	No Bid No Bid		\$6.54 \$6.90	\$5,232.00 \$2,070.00	
	Size: 6X-Large Size: 9X-Large	50	each	\$6.20	\$310.00	\$6.69	\$334.50	No Bid		\$7.90	\$395.00	
	Size: 10X-Large	25	each	\$6.40	\$160.00	\$6.69	\$167.25	No Bid		\$7.90	\$197.50	
	Size. 10A-Large	20	cucii	50.10	3100.00	50.07	0107.23	THO DIG		31.50	9177.50	
2	Inmate Black & White Shirt, as per bid specifications											
	Size: Small	200	each	\$4.52	\$904.00	\$4.97	\$994.00	No Bid		\$5.90	\$1,180.00	
	Size: Medium	200	each	\$4.52	\$904.00	\$4.97	\$994.00	No Bid		\$5.90	\$1,180.00	
	Size: Large	400	each	\$4.52	\$1,808.00	\$4.97	\$1,988.00	No Bid		\$5.90	\$2,360.00	
	Size: X-Large	1,200	each	\$4.52	\$5,424.00	\$4.97	\$5,964.00	No Bid		\$5.90	\$7,080.00	
	Size: 2X-Large	1,200	each	\$4.52	\$5,424.00	\$4.97	\$5,964.00	No Bid		\$5.90	\$7,080.00	
	Size: 3X-Large	1,200	each	\$5.00	\$6,000.00	\$5.22	\$6,264.00	No Bid		\$6.18	\$7,416.00	
	Size: 4X-Large	800	each	\$5.44	\$4,352.00	\$5.22	\$4,176.00	No Bid		\$6.36	\$5,088.00	
	Size: 6X-Large	300	each	\$5.44	\$1,632.00	\$5.85	\$1,755.00	No Bid	1	\$6.90	\$2,070.00	
	Size: 9X-Large	50	each	\$6.40	\$320.00	\$6.45	\$322.50	No Bid		\$7.54	\$377.00	
	Size: 10X-Large	25	each	\$6.70	\$167.50	\$6.45	\$161.25	No Bid		\$7.90	\$197.50	
	Specify Manufacturer, Brand and Product Number Being Proposed			CFBWS		VSI-UNTRBW (size) VSI- UNSHBW (size)		-		SY5BKAW & PY5BKAW		

	TABULATION SHEET 2019-031-6795 Annual Contract for Inmate Clothing and O Items Opening Date: March 14, 2019 Initial Contract Period: Upon Court Approval, 24 months with (3) one year extension options Buyer Tiffany Dales Recommended for award Dallas County Taxpayer? How were you notified? Cooperative Purchasing?	VENDOR #5 Carefree Uniforms PO Box 1263 PO Box 267 Crystal Mcbee sales@carefreeun 480-368-9063-fax No No Dallas County Websit		VENDOR #6 Victory Supply LLC 7025 Industrial Park Road Mourt Pleasant, TN 38474 Mariah Macham sales @victory supple 888-376-1205 ext 716 931-325-5521 fax ***Recommended for: Boxers, and Wom No Dallas County Website Yes	G.COM	VENDOR # 7 Tabb Textiles Co., Inc 511 Pleasant Drive Opclika, AJ. 36601 Alan Fenster tabb@textilegroup.i 334-745-373 No No Email/Notice from Dal Co Yes	net	VENDOR # 8 Charm-Tex 1618 Cohey Island Ave Brooklyn, NY 11230 Stan Danzger stan@charm-lex.com 718-252-8100 718-258-8303-fnx No Dallas County Website Yes			
	Samples			Yes		Yes		Yes		Yes	
	References			Yes		Yes		Yes		Yes	
ion	DESCRIPTION:		Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
	T	Quantity			\$57,148.50		\$58,431.50		\$0.00		\$69,331.00
_	TOTAL										
—	TOTAL		_			-					-
							_			-	
	Green and White Uniforms Inmate Clothing (Sheriff's						_				
	Department)										
	Inmate Green & White Pants, as per bid specifications										
	Size: Small	100	each	\$5.24	\$524.00	\$5.11	\$511.00	No Bid		\$6.18	\$618.00
	Size: Medium	200	each	\$5.24	\$1,048.00	\$5.11	\$1,022.00	No Bid		\$6.18	\$1,236.00
	Size: Large	200	each	\$5.24	\$1,048.00	\$5.11	\$1,022.00	No Bid		\$6.18	\$1,236.00
	Size: X-Large	400	each	\$5.24	\$2,096.00	\$5.11	\$2,044.00	No Bid		\$6.18	\$2,472.00
	Size: 2X-Large	300	each	\$5.24	\$1,572.00	\$5.11	\$1,533.00	No Bid		\$6.18	\$1,854.00
	Size: 3X-Large	300	each	\$5.48	\$1,644.00	\$5.59	\$1,677.00	No Bid		\$6.36	\$1,908.00
	Size: 4X-Large	150	each	\$5.80	\$870.00	\$5.59	\$838.50	No Bid		\$6.54	\$981.00
	Size: 6X-Large	25	each	\$5.80	\$145.00	\$6.05	\$151.25	No Bid		\$6.90	\$172.50
	Size: 9X-Large	25	each	\$7.40	\$185.00	\$6.69	\$167.25	No Bid		\$7.90	\$197.50
	Size: 10X-Large	25	each	\$7.60	\$190.00	\$6.69	\$167.25	No Bid		\$7.90	\$197.50
	Direction Lange						7.0			-	
	Inmate Green & White Shirt, as per bid specifications										
	Size: Small	100	each	\$4.52	\$452.00	\$4.97	\$497.00	No Bid		\$5.90	\$590.00
	Size: Medium	200	each	\$4.52	\$904.00	\$4.97	\$994.00	No Bid		\$5.90	\$1,180.00
	Size: Large	200	each	\$4.52	\$904.00	\$4.97	\$994.00	No Bid		\$5.90	\$1,180.00
	Size: X-Large	400	each	\$4.52	\$1,808.00	\$4.97	\$1,988.00	No Bid		\$5.90	\$2,360.00
	Size: 2X-Large	300	each	\$4.52	\$1,356.00	\$4.97	\$1,491.00	No Bid		\$5.90	\$1,770.00
	Size: 3X-Large	300	each	\$5.00	\$1,500.00	\$5.22	\$1,566.00	No Bid		\$6.18	\$1,854.00
	Size: 4X-Large	150	each	\$5.44	\$816.00	\$5.22	\$783.00	No Bid		\$6.36	\$954.00
	Size: 6X-Large	25	each	\$5.44	\$136.00	\$5.85	\$146.25	No Bid		\$6.90	\$172.50
	Size: 9X-Large	25	each	\$6.40	\$160.00	\$6.45	\$161.25	No Bid		\$7.54	\$188.50
		1	1 -								
_	Size: 10X-Large	25	each	\$6.70	\$167.50	\$6.45	\$161.25	No Bid		\$7.90	\$197.50

	TABULATION SHEET 2019-031-6795 Annual Contract for Inmate Clothing and Or Items Opening Date: March 14, 2019 Initial Contract Period: Upon Court Approval, 24 months with (3) one year extension options Buyer Tiffany Dales Recommended for award Dallas County Taxpayer?		VENDOR #5 Carefree Uniforms PO Box 12631 Arizona 85267 Crystal Mcbee sales@carefreeunifo 480-368-9064 480-368-9064 No	rms.com	VENDOR 86 Victory Supply LLC 7025 Industrial Park Road Mount Pleasant, TN 38474 Mariah Machan sales@wictorysupplyinc. 888-376-1205 ext 716 931-325-5521 fax ***Recommended for: Fa Boxers, and Women No.	ce Towels, Towels,	VENDOR # 7 Tabb Textiles Co., Inc. 51 1 Pleasant Drive Opelika, AL 36801 Alan Fenster tabb@hextillegroup.ns 334-745-6762 334-745-2377-fax No	et	VENDOR # 8 Charm-Tex 1618 Cohey Island Ave Brooklyn, NY 11230 Sun Danzger stan@charm-tex.com 718-252-8100 718-258-8303-fax No		
	How were you notified? Cooperative Purchasing? Samples References		Dallas County Website Yes Yes		Dallas County Website Yes Yes Yes		Email/Notice from Dalla Co Yes Yes	s	Dallas County Website Yes Yes Yes		
					m !		n		n		
ction	DESCRIPTION:		Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
	Specify Manufacturer, Brand and Product Number Being	Quantity		CFKGS		VSI-UNTRGW (size) VSI-				SY5GRAW & PY5GRAW	
	Proposed TOTAL				\$17,525.50	UNSHGW (size)	\$17,915.00		\$0.00		\$21,319.00
	TOTAL				317,323.30		317,513.00		30.00		321,319.00
	Orange and White Uniforms Inmate Clothing (Sherift's Department)										
	Inmate Orange & White Pants, as per bid specifications										
	Size: Small	10	each	\$6.30	\$63.00	\$5.11	\$51.10	No Bid		\$6.18	\$61.80
	Size: Medium	10	each	\$6.30	\$63.00	\$5.11	\$51.10	No Bid		\$6.18	\$61.80
	Size: Large	10	each	\$6.30	\$63.00	\$5.11	\$51.10	No Bid		\$6.18	\$61.80
	· ·					\$5.11					
	Size: X-Large	10	each	\$6.30	\$63.00	\$5.11	\$51.10 \$51.10	No Bid		\$6.18	\$61.80
	Size: 2X-Large	10	each	\$6.30	\$63.00	\$5.11		No Bid		\$6.18	\$61.80
	Size: 3X-Large Size: 4X-Large	10	each	\$6.60 \$6.60	\$66.00 \$66.00	\$5.59	\$55.90 \$55.90	No Bid No Bid		\$6.36 \$6.54	\$63.60 \$65.40
	Size: 4X-Large Size: 6X-Large	10	each	\$6.60	\$66.00	\$6.05	\$60.50	No Bid		\$6.90	\$69.00
	Size: 9X-Large	10	each	\$6.60	\$66.00	\$6.69	\$66.90	No Bid		\$7.90	\$79.00
)	Size: 10X-Large	10	each	\$7.10	\$71.00	\$6.69	\$66.90	No Bid		\$7.90	\$79.00
	Inmate Orange & White Shirt, as per bid specifications										
	Size: Small	10	each	\$5.40	\$54.00	\$4.97	\$49.70	No Bid		\$5.90	\$59.00
	Size: Medium	10	each	\$5.40	\$54.00	\$4.97	\$49.70	No Bid		\$5.90	\$59.00
	Size: Large	10	each	\$5.40	\$54.00	\$4.97	\$49.70	No Bid		\$5.90	\$59.00
	Size: X-Large	10	each	\$5.40	\$54.00	\$4.97	\$49.70	No Bid		\$5.90	\$59.00
	Size: 2X-Large	10	each	\$5.40	\$54.00	\$4.97	\$49.70	No Bid		\$5.90	\$59.00
	Size: 3X-Large	10	each	\$5.60	\$56.00	\$5.22	\$52.20	No Bid		\$6.18	\$61.80
	Size: 4X-Large	10	each	\$5.60	\$56.00	\$5.22	\$52.20	No Bid		\$6.36	\$63.60
		4.0		\$5.80	\$58.00	\$5.85	\$58.50	No Bid	1	\$6.90	\$69.00
	Size: 6X-Large	10	each	33.00	338.00	33.63	\$36.30	No Bid		30.70	307.00

	TABULATION SHEET 2019-031-6795 Annual Contract for Inmate Clothing and Others	ther Related		VENDOR #5 Carefree Uniforms		VENDOR #6 Victory Supply LLC		VENDOR # 7 Tabb Textiles Co., 1	inc.	VENDOR # 8 Charm-Tex	
	Opening Date: March 14, 2019			PO Box 12631 Arizona 85267 Crystal Mcbee				511 Pleasant Drive Opelika, AL 36801 Alan Fenster		1618 Cohey Island Ave Brooklyn, NY 11230 Stan Danzger	
	Initial Contract Period: Upon Court Approval, 24 months with (3) one year extension options			sales@carefreeun	iforms.com			tabb@textilegrou	p.net	stan@charm-tex.com	
	Buyer Tiffany Dales			480-368-9056 480-368-9063-fax		888-376-1205 ext 716 931-325-5521 fax	334-745-6762 718-252-8100 718-252-8100 718-258-8303-fax No No				
	Recommended for award			No		***Recommended for: Face Boxers, and Womens					
	Dallas County Taxpayer? How were you notified?			No Dallas County Websit	te	No Dallas County Website	No Email/Notice from D	Pallas	No Dallas County Website		
	Cooperative Purchasing? Samples			Yes		Yes Yes	Co Yes Yes Yes				
	References			Yes		Yes		Yes		Yes	
ection	DESCRIPTION:	Estimated Quantity	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
10	Size: 10X-Large	10	each	\$6.75	\$67.50	\$6.45	\$64.50	No Bid		\$7.90	\$79.00
	Specify Manufacturer, Brand and Product Number Being			CFOINS		VSI-UNTROW (size) VSI-				SY5ORAW & PY5ORAW	
	Proposed			Crons		UNSHOW (size)				STORAW WITHOUT	
	TOTAL				\$1,223.50		\$1,102.00		\$0.00		\$1,308.80
	Grand Total for All Uniforms				\$75,897.50		\$77,448.50		\$0.00	1	\$91,958.80
	Women Sport Bra										
1	Size: 34	300	dozen	\$15.60	\$4,680.00	\$16.64	\$4,992.00	No Bid		\$18.18	\$5,454.00
2	Size: 36 Size: 38	480 480	dozen	\$15.60 \$15.60	\$7,488.00 \$7.488.00	\$16.64 \$16.64	\$7,987.20 \$7,987.20	No Bid No Bid		\$18.18 \$18.18	\$8,726.40 \$8,726.40
	Size: 40	480	dozen	\$16.90	\$8,112.00	\$16.64	\$7,987.20	No Bid		\$19.18	\$9,206.40
;	Size: 42	480	dozen	\$16.90	\$8,112.00	\$16.64	\$7,987.20	No Bid		\$19.18	\$9,206.40
,	Size: 44	480	dozen	\$18.20	\$8,736.00	\$17.44	\$8,371.20	No Bid		\$19.18	\$9,206.40
	Size: 48	480	dozen	\$19.11	\$9,172.80	\$17.44	\$8,371.20	No Bid		\$19.18	\$9,206.40
3	Size: 50	20	dozen	\$19.11	\$382.20	\$17.44	\$348.80	No Bid		\$20.18	\$403.60
)	Size: 52	20	dozen	\$20.02	\$400.40	\$17.44	\$348.80	No Bid		\$20.18	\$403.60 *Vender Ext Tot
	Specify Manufacturer, Brand and Product Number Being Proposed			CF#SPB		VSI-SBWH-(size)				CT # CL/SBR9	Differs
	TOTAL				\$54,571.40		\$54,380.80		\$0.00		\$60,539.60
	Women Panties										
1	Size: 5	100	dozen	\$6.20	\$620.00	\$6.11	\$611.00	No Bid		\$6.90	\$690.00
	Size: 5 Size: 6	100	dozen	\$6.20	\$620.00	\$6.11	\$611.00	No Bid		\$6.90	\$690.00
	Size: 7	300	dozen	\$6.20	\$1,860.00	\$6.11	\$1,833.00	No Bid		\$6.90	\$2,070.00
	Size: 8	300	dozen	\$6.20	\$1,860.00	\$6.11	\$1,833.00	No Bid		\$7.18	\$2,154.00
	Size: 9	200	dozen	\$7.44	\$1,488.00	\$6.87	\$1,374.00	No Bid		\$7.90	\$1,580.00
	Size: 10	200	dozen	\$7.44	\$1,488.00	\$6.87	\$1,374.00	No Bid		\$8.54	\$1,708.00
	Size: 12	100	dozen	\$7.44	\$744.00	\$6.87 \$7.19	\$687.00	No Bid		\$9.54 \$9.90	\$954.00
	Size: 14	75	dozen	\$9.06	\$679.50		\$539.25	No Bid			\$742.50

Initial with with Buye Record Dalls How Dalls How DESS TO DESS	erences SCRIPTION: e: 15 e: 16 cif Manufacturer, Brand and Product Number Being	Estimated Quantity 50 50	Unit of Measure	PO Box 12631 Arizona 82-267 Crystal Mebee sales@acrefreseurifor 480-368-9056 480-368-9063-fax No No Dallas County Website Yes Yes Unit Price \$9.06 59.06 CF#30W	Extension 5453.00 5453.00 510,265.50	7025 Industrial Park Road Mount Plessant, TN 38474 Mariah Macham salesi@victorysupplyinc. 888-376-1205 ext 716 931-325-5521 fnx ***Recommended for: Fa Boxers, and Women No Dallas County Website Yes Yes Unit Price \$7.19 \$7.19 VSI-PNTYWH-(size)	ce Towels, Towels,	\$11 Pleasant Drive Opelika, AJ. 36801 Alan Fenster tabb@@fextillegroup. 334-745-6762 334-745-6762 334-745-2377-fax No No Email/Notice from Dal Co Yes Yes Yes Unit Price No Bid No Bid		1618 Cohey Island Ave Brooklyn, NY 11230 Stan Danzger stan@charm-tex.com 718-258-8300 718-258-8303-fax No No Dallas County Website Yes Yes Yes Unit Price \$9.90 \$9.90	Extension \$495.00 \$495.00
With	(3) one year extension options ver Tiffany Dales commended for award llas County Taxpayer? were you notifled? operative Purchasing? uples crences SCRIPTION: e: 15 e: 15 e: 16	Quantity 50	dozen	salea@carefreeunifon 480-368-9056 480-368-9063-fax No No Dallas County Website Yes Yes Unit Price 59.06 59.06	Extension \$453.00 \$453.00	sales@victorysupplyinc. 888-376-1205 ext 716 991-325-5521 fax ***Recommended for: Fa Boxers, and Women No Dallas County Website Yes Yes Yes Unit Price \$7.19 \$7.19	cc Towels, Towels, s Panties*** Extension [\$359.50]	tabb@textilegroup. 334-745-6762 334-745-2377-fax No EmailNotice from Dal Co Yes Yes Unit Price No Bid	las	stan@charm-lex.com 718-252-8100 718-258-8303-fax No No Dallas County Website Yes Yes Unit Price 59-90	\$495.00
Record R	commended for award llas County Taxpayer? were you notified? operative Purchasing? operative Purchasing? references SCRIPTION: e: 15 e: 16 e: 16 ceify Manufacturer, Brand and Product Number Being TAL	Quantity 50	dozen	480-368-9063-fax No No Dallas County Website Yes Yes Unit Price 59.06 59.06	\$453.00 \$453.00	931-325-5521 fax ***Recommended for: Fa Boxers, and Women No Dallas County Website Yes Yes Yes Unit Price \$7.19 \$7.19	Extension	334-745-2377-fax No No Email/Notice from Dal Co Yes Yes Yes Unit Price No Bid		718-258-8303-fax No No Dallas County Website Yes Yes Unit Price	\$495.00
Dalla How	las County Taxpayer? were you notified? operative Purchasing? oples cerences SCRIPTION: e: 15 e: 15 e: 16 beity Manufacturer, Brand and Product Number Being TAL	Quantity 50	dozen	No Dallas County Website Yes Yes Unit Price	\$453.00 \$453.00	Boxers, and Women No Dallas County Website Yes Yes Yes Unit Price \$7.19 \$7.19	Extension	No Email/Notice from Dal Co Yes Yes Yes Unit Price No Bid		No Dallas County Website Yes Yes Yes Unit Price	\$495.00
How Coop Samp Reference Coop Samp Reference Coop	w were you notified? operative Purchasing? uples screness SCRIPTION: e: 15 e: 16 e: 16 customatic Manufacturer, Brand and Product Number Being	Quantity 50	dozen	Dallas County Website Yes Yes Unit Price \$9.06 \$9.06	\$453.00 \$453.00	Dallas County Website Yes Yes Yes Unit Price \$7.19 \$7.19	\$359.50	Email/Notice from Dal Co Yes Yes Yes Unit Price No Bid		Dallas County Website Yes Yes Yes Unit Price	\$495.00
Coops Reference	operative Purchasing? iples SCRIPTION: e: 15 e: 16 e: 16 cify Manufacturer, Brand and Product Number Being TAL.	Quantity 50	dozen	Yes Yes Unit Price	\$453.00 \$453.00	Yes Yes Yes Unit Price \$7.19 \$7.19	\$359.50	Co Yes Yes Yes Unit Price		Yes Yes Yes Unit Price	\$495.00
Samp Reference	inples icrences SCRIPTION: e: 15 e: 16 e: 16 TAL	Quantity 50	dozen	Yes Unit Price \$9.06 \$9.06	\$453.00 \$453.00	Yes Yes Unit Price \$7.19 \$7.19	\$359.50	Yes Yes Yes Unit Price No Bid	Extension	Yes Yes Unit Price \$9.90	\$495.00
Samp Reference	inples icrences SCRIPTION: e: 15 e: 16 e: 16 TAL	Quantity 50	dozen	Yes Unit Price \$9.06 \$9.06	\$453.00 \$453.00	Yes Yes Unit Price \$7.19 \$7.19	\$359.50	Yes Yes Unit Price No Bid	Extension	Yes Yes Unit Price \$9.90	\$495.00
Reference Proceedings Procedings Pro	erences SCRIPTION: e: 15 e: 16 e: 16 Constituting the state of the sta	Quantity 50	dozen	Yes Unit Price \$9.06 \$9.06	\$453.00 \$453.00	Yes Unit Price \$7.19 \$7.19	\$359.50	Yes Unit Price No Bid	Extension	Yes Unit Price \$9.90	\$495.00
9 Size: Speece Size: Clogs Size: Clogs Size: Clogs Size:	e: 15 e: 16 E: 16 E: 16 TAL	Quantity 50	dozen	\$9.06 \$9.06	\$453.00 \$453.00	\$7.19 \$7.19	\$359.50	No Bid	Extension	\$9.90	\$495.00
9 Size: Speece Size: TO1	e: 15 e: 16 E: 16 E: 16 TAL	Quantity 50	dozen	\$9.06 \$9.06	\$453.00 \$453.00	\$7.19 \$7.19	\$359.50	No Bid	Extension	\$9.90	\$495.00
Size: Specific Size: Specific Specific Size: Siz	e: 16 reify Manufacturer, Brand and Product Number Being TAL	50		\$9.06	\$453.00	\$7.19					
Spece Spec	ecify Manufacturer, Brand and Product Number Being TTAL	50	dozen				\$359.50	No Bid		\$9.90	\$495.00
TO1 Clog C	TAL			CF#30W	\$10,265.50	VSI-PNTYWH-(size)					
TO1 Clog C	TAL			CLESON	\$10,265.50	VSI-TIVIT WII-(SIZC)				CT #CL/PANT	
Size:	og EV Sandals						\$9,581.25		\$0.00	CT #CDTAIN	\$11,578.50
Size: Size:	og EV Sandals				1						*Vendors To
Size:						<u> </u>				1	Differs
Size:											
Size: Size		400	pair pair	\$3.50 \$3.50	\$1,400.00	\$2.17 \$2.17	\$868.00 \$868.00	No Bid No Bid		\$2.90 \$2.90	\$1,160.00 \$1,160.00
Size:		400	pair	\$3.50	\$1,400.00	\$2.17	\$868.00	No Bid		\$2.90	\$1,160.00
Size: Size: Size: Size: 0 Size: 1 Size:	e: 9	500	pair	\$3.50	\$1,750.00	\$2.17	\$1,085.00	No Bid		\$2.90	\$1,450.00
Size: Size: Size: 0 Size: 1 Size:		600	pair	\$3.50	\$2,100.00	\$2.17	\$1,302.00	No Bid		\$2.90	\$1,740.00
Size: 0 Size: 1 Size:		600 600	pair	\$3.50 \$3.50	\$2,100.00 \$2,100.00	\$2.17 \$2.17	\$1,302.00 \$1,302.00	No Bid No Bid		\$2.90 \$2.90	\$1,740.00 \$1,740.00
Size: 0 Size: 1 Size:		600	pair	\$3.50	\$2,100.00	\$2.17	\$1,302.00	No Bid		\$2.90	\$1,740.00
1 Size:		400	pair	\$3.50	\$1,400.00	\$2.17	\$868.00	No Bid		\$2.90	\$1,160.00
		200	pair	\$3.50	\$700.00	\$2.17	\$434.00	No Bid		\$2.90	\$580.00
Cana	e: 16	100	pair	\$3.50	\$350.00	\$2.17	\$217.00	No Bid		\$2.90	\$290.00
	ecify Manufacturer, Brand and Product Number Being posed			CF# EVANSAN (This is an EVA SANDAL alternate)		VSI-SHEVCGB-(size)				CT # F/CROGSBK	
тот	TAL				\$16,800.00		\$10,416.00		\$0.00		\$13,920.00
Whi	nite Boxers									1	
1 Size:	e: Small	100	dozen	\$11.05	\$1,105.00	\$9.97	\$997.00	No Bid		\$12.26	\$1,226.00
2 Size:	e: Medium	100	dozen	\$11.05	\$1,105.00	\$9.97	\$997.00	No Bid		\$12.26	\$1,226.00
Size:	e: Large	200	dozen	\$11.05	\$2,210.00	\$10.74	\$2,148.00	No Bid		\$12.26	\$2,452.00
Size:	e: X-Large	300	dozen	\$11.05	\$3,315.00	\$10.74	\$3,222.00	No Bid		\$12.26	\$3,678.00
Size:	e: 2X-Large	300	dozen	\$11.90	\$3,570.00	\$11.24	\$3,372.00	No Bid		\$12.26	\$3,678.00
Size:		300	dozen	\$12.35	\$3,705.00	\$11.74	\$3,522.00	No Bid		\$12.90	\$3,870.00
Size:	e: 3X-Large	300	dozen	\$13.00	\$3,900.00	\$12.17	\$3,651.00	No Bid		\$13.18	\$3,954.00
Size:	e: 3X-Large e: 4X-Large		dozen	\$13.65	\$1,365.00	\$13.17	\$1,317.00	No Bid		\$13.90	\$1,390.00

	TABULATION SHEET 2019-031-6795 Annual Contract for Inmate Clothing and Ottlems	ther Related		VENDOR #5 Carefree Uniforms		VENDOR #6 Victory Supply LLC		VENDOR # 7 Tabb Textiles Co., Inc.		VENDOR # 8 Charm-Tex		
	Opening Date: March 14, 2019			PO Box 12631 Arizona 85267 Crystal Mcbee		7025 Industrial Park Road Mount Pleasant, TN 38474 Mariah Macham		511 Pleasant Drive Opelika, AL 36801 Alan Fenster		1618 Cohey Island Ave Brooklyn, NY 11230 Stan Danzger		
	Initial Contract Period: Upon Court Approval, 24 months with (3) one year extension options							tabb@textilegroup.ne				
	Buyer Tiffany Dales			480-368-9063-fax		931-325-5521 fax		334-745-2377-fax		718-252-8100 718-258-8303-fax		
	Recommended for award			No		***Recommended for: Face Boxers, and Womens I		No		No		
	Dallas County Taxpayer? How were you notified?			No Dallas County Website		No Dallas County Website		No Email/Notice from Dallas Co Yes Yes		No Dallas County Website Yes Yes		
	Cooperative Purchasing? Samples			Yes		Yes Yes						
	References			Yes		Yes		Yes		Yes		
ection	DESCRIPTION:	Estimated Quantity	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	
).9	Size: 9X-Large	20	dozen	\$16.25	\$325.00	\$14.11	\$282.20	No Bid		\$16.90	\$338.00	
.10	Size: 10X-Large	10	dozen	\$17.55	\$175.50	\$14.11	\$141.10	No Bid		\$16.90	\$169.00	
	Specify Manufacturer, Brand and Product Number Being Proposed			CF#3000-IMT		VSI-BXWH-(size)				CT # CL/BOXER		
	TOTAL				\$20,775.50		\$19,649.30		\$0.00		\$21,981.00	
						-						
l	Socks			Non-Compliant Bid- Ite specificat	ions	Non-Compliant Bid- Item d specifications				Non-Compliant Bid- Item di specifications		
		7,200	dozen	\$4.25	\$30,600.00	\$5.11	\$36,792.00	No Bid		\$4.54	\$32,688.00	
	Specify Manufacturer, Brand and Product Number Being Proposed			CF#150WTB		VSI-SKTBWH				SCK/TUBE		
	TOTAL			*Inspected sample did not meet bid specifications.	\$30,600.00	*Inspected sample did not meet bid specifications.	\$36,792.00		\$0.00	*Inspected sample did not meet bid specifications.	\$32,688.00	
	Towels			**Withdrawn	ı Bid***							
		4,000	dozen	\$3.95	\$15,800.00	\$14.67	\$58,680.00	\$14.69	\$58,760.00	\$20.90	\$83,600.00	
	Specify Manufacturer, Brand and Product Number Being Proposed			CF1212		VSI-TWWH2448		Tabb Style# BT300		BT2448J8.OP		
	TOTAL			Vendor has withdrawn their bid	\$15,800.00		\$58,680.00		\$58,760.00		\$83,600.00	
	Face Towels			**Withdrawn	ı Bid***							
		6,000	dozen	\$23.00	\$138,000.00	\$1.97	\$11,820.00	\$2.18	\$13,080.00	\$3.36	\$20,160.00	

	TABULATION SHEET	h	VENDOR #5		VENDOR #6	1	VENDOR # 7	1	VENDOR # 8			
	2019-031-6795 Annual Contract for Inmate Clothing and Of	ther Related		Carefree Uniforms		Victory Supply LLC		Tabb Textiles Co., Inc.		Charm-Tex		
	Items	retateu		Carcine Cambrins		, and , supply Life		Thos reades Co., Inc.				
				PO Box 12631		7025 Industrial Park Road		511 Pleasant Drive		1618 Cohey Island Ave		
	Opening Date: March 14, 2019			Arizona 85267		Mount Pleasant, TN 38474		Opelika, AL 36801		Brooklyn, NY 11230		
	Initial Contract Period: Upon Court Approval, 24 months			Crystal Mcbee sales@carefreeuniform	ne com	Mariah Macham sales@victorvsupplyinc.c	om	Alan Fenster tabb@textilegroup.net		Stan Danzger stan@charm-tex.com		
	with (3) one year extension options			sales@carefreeuniforn	IIS.COIII	sales@victorysupplyinc.c	<u>un</u>	tabbi@textilegroup.flet		Stant@charm-tex.com		
				480-368-9056		888-376-1205 ext 716		334-745-6762		718-252-8100		
	Buyer Tiffany Dales			480-368-9063-fax		931-325-5521 fax		334-745-2377-fax		718-258-8303-fax		
	Recommended for award		No		***Recommended for: Face	e Towels, Towels,	No		No			
			1		Boxers, and Womens							
	Dallas County Taxpayer?		No		No		No		No			
	How were you notified?		Dallas County Website		Dallas County Website		Email/Notice from Dallas		Dallas County Website			
	Cooperative Purchasing?				Yes		Co Yes		Yes			
	Samples			Yes		Yes	ļ	Yes		Yes		
	References		Yes		Yes		Yes		Yes			
ion	DESCRIPTION:	Fetimated	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	
·	Discount in the		Cant of Measure	O.M. THE	LANGISION	O.M. I Hee	LAUGISION	Omi i iico	LACORSION	Cim Trice	LAMERSION	
	la is M. G. D. L. ID. L. W. L. D.	Quantity		CF#2448	1	VSI-WCWH1212		Tabb Style# WC520		WC1212J1.OP	1	
	Specify Manufacturer, Brand and Product Number Being Proposed			CF#2448		VSI-WCWH1212		Tabb Style# WC520		WC1212J1.OP		
	Toposta											
	TOTAL			Vendor has withdrawn	\$138,000.00		\$11,820.00		\$13,080.00		\$20,160,00	
				their bid								
	Specify any additional comments/costs/etc. included					In order to ensure ample st						
	with your bid proposal, iff applicable:					require an initial ramp-up delivery period of up to 75 days on the first order for						
						certain products or colors.						
						remain in stock for the rem						
						contract period and will ha delivery period after.	ve a 7-14 day					
						activety period dyter.						
	List any special resources, skills or services which the											
	firm offers that are not specifically addressed in the											
	solicitation, but would be available as part of an agreement with your firm.											
	1) Brimer Contest Brown 2) Brok He C			D.Court-I.M.D.	90 269 0056	1) Mariah Macham, 888-3	76 1205 V 716	1) Busto I source 122	1 745 6762	1) Stee Description 719 252 0100 -		
	1) Primary Contact Person, 2) Back-Up Contact Person, 3) Written Notices Address			Crystal McBee 4 sales@carefreeuniforms.c		1) Mariah Macham, 888-3 mariah@victorysupplyinc.		Rusty Langford 33- tabb@textilegroup.net, 2		1) Stan Danzger 718-252-8100 star Estelle Ashenberg 718-252-1800 x		
	-,			480-368-9056 info@caref	reeuniforms.com 3)	Fullmer, 801-732	-1552,	334-745-6762 marsha@te:	ctilegroup.net 3)	tex.com, 3) Stan Danzger 718-252	-8100 stan@charm-	
				480-368-9056 sales@care PO Box 12631 Scotts		deann@victorysupplyinc.co Scharrer, 931-325		Rusty Langfor 334- tabb@textilegroup.net 5		tex.com 1618 Coney Island Ave I	srooklyn NY 11230	
				7 O BOX 12031 SCOUSE	, FAL 03201	sales@victorysupplyinc.com	n, 7025 Industrial	Opelika AL 36				
	TOTAL BID				\$362,709.90	BJ. B.J. M Bl	\$278,767.85		\$71,840.00		\$336,425.90	
	TOTAL RECOMMENDED FOR AWARD				\$0.00		\$99,730.55		\$0.00		\$0.00	